1/6 do/dB,,

Ratio to ALEPH

=
o
N

10

1071

0.5

189

GeV ee

y*/Z I(Haglron

ic)|

L 1| ||||| |
Rivet 3.1.0, = 7.2M events

\:\!
| \* ::~\\\ |
— RN X -
H EJs _
L IR _
m ALEPH
--0O-- Herwig++ 2.7.1 default N m
— --i1-- Herwig 7.0.1 default —
| | | | | | | | | | | | | | | |
_| T T T T | T T T T | T T T T |_
— TN I~
— 4 O —
B [ SR N i
7N ’ ’ \ \
7 -, e \ \ 1
: /' \ Oz/, /z’ \\\ \\\ |
e i O N
\t\‘G—_O—’—@—’ -_-/,/ \\\ \\ ]
I IS\ _,—’—EI— ——————— \ \\\ —
E""B— \\\ \\
\\\@
- D —
| 1 1 1 1 " | 1 1 1 1 " | " 1 1 1 1 " |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


